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Exercise 1
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Exercise 2

The solution is based on finding the Z values. Note: You can also solve this problem using the results of
exercise 2.

a. Since XA = XB = 1
2 it follows that ZA = ZB . We get the following system:

0.12� 0.04 = 0.04ZA + 0.0016ZB

R̄B � 0.04 = 0.0016ZA + 0.0064ZB

Solve for ZA to get ZA = 1.9231. Therefore, R̄B = 0.04 + (0.0016 + 0.0064)1.9231 ) R̄B = 0.055385.

b. Stock B will not be held implies that XB = 0 therefore, ZB = 0.

0.12� 0.04 = 0.04ZA + 0.0016ZB

R̄B � 0.04 = 0.0016ZA + 0.0064ZB

But, ZB = 0, therefore, ZA = 2. It follows that R̄B = 0.0432.
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